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Question 1.Select the related word/letters/number from the given alternatives.

& 7 ferodt 7 & Hafeerd eree) 3n/dear a1 9w
Coins : Mint :: Bricks : ?

EiCURICE 2 1 S
Options:

1) Kiln

g

2) Foundry

TS T

3) Cementary

R

4) Finance
Correct Answer: Kiln
o

Candidate Answer: Kiln

el

Question 2.Select the related word/letters/number from the given alternatives.

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
MOLTU : ? :: HOPE : IPQF

Options:

1) MPNUV

2) NPMUV

3) NPMVU

4) MPNVU
Correct Answer: NPMUV
Candidate Answer: NPMUV

Question 3.Select the related word/letters/number from the given alternatives.

3 1 ol & @ Haferd eree) 3R/ aedr # g
456 :15::789:7?

Options:

1) 22

2) 24

3)26

4) 28
Correct Answer: 24
Candidate Answer: 24
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Question 4.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

few 1T faehodt & & fawe eeey HET1/3ER/ZIH AT |

Options:
1) TOP

2) CoP
3) MOP

4) JOP
Correct Answer: JOP
Candidate Answer: JOP

Question 5.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

fow 17 faehodt & & fawe ese) HET1/3ER/ZIH AT |

Options:
1) BDF

2) NQS
3) TVX

4) HIL
Correct Answer: NQS
Candidate Answer: NQS

Question 6.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

fow 17 faehodt & & fawe eee) HET1/3ER/ZIH AT

Options:
1)(3,12)

2)(2,6)
3)(6,42)

4) (5, 35)
Correct Answer: (5, 35)
Candidate Answer: (5, 35)

Question 7.Arrange the following words as per order in the dictionary

RrAfaf@a asel 1 ereqenrr & T 10 e & 3R faf@)
1. Assassination 2. Association 3. Assimilate 4. Assimuthual
Options:
1)1,234
2)1,324
3)1,3,42

4)2,3,1,4
Correct Answer: 1,3,4,2
Candidate Answer: 1,3,4,2



Question 8.Choose the correct alternative from the given ones that will complete the below series

u 1w fasredt 7 & wEY fashed giAw S 31egshat 1 g Y

Options:
1) P/R

2) /0
3)R/]

4) O/C
Correct Answer: O/C
Candidate Answer: O/C

Question 9.Find the wrong number in the series.

& TS AT H § eI FEAT A Do |
225, 206, 188, 176, 165, 158, 153
Options:

1) 225

2) 188
3) 176

4) 153
Correct Answer: 188
Candidate Answer: 188

Question 10.The sum of the ages of father and a son presently is 70 years. After 10 years, the son's age is exactly half that of the father. What are their ages now?

T AT 3R 35 GF T 3T 1 AT 70 Aol ¥ 10 Tied s1e; T b 34 A 1 387 & 3med @M | 31 Sefeht 337 ottt € 2
Options:

1) 45 years, 25 years

459, 25 ¥

2) 50 years, 20 years

50 @, 20 a¥

3) 47 years, 23 years

47 9¥, 23 9§

4) 50 years, 25 years

50 a¥, 25 a¥

Correct Answer: 50 years, 20 years

50 9, 20 aF

Candidate Answer: 50 years, 20 years

50 @, 20 a¥

Question 11.If the third day of a month is Tuesday, which of the following would be the 25th day of that month?

fe el A 1 NERT R FHoToraR g ot 37 A T 25aT e hleA-am ghom ?
Options:

1) Tuesday

FHITAR

2) Monday

HHIR

3) Wednesday

FYAR

4) Sunday

AR

Correct Answer: Monday

THAR

Candidate Answer: Wednesday
TUAR

)

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.

efofa faeed! 7 & a5 eee T S T 10 oreg & 31RT &7 T1eT 9 6T ST ST |ehelT 6
CIRCUMSTANCES



Options:
1) DISTANCE

2) STANCE
3) MUSIC

4) CIRCUS
Correct Answer: DISTANCE
Candidate Answer: DISTANCE

Question 13.If BUDDHISM is coded as DWFFIKUO then CHRISTIAN will be coded as

3fg v 1z # 'BUDDHISM' &1 'DWFFIKUO' far@r STt &, aY 38 &hig & 'CHRISTIAN' & &/ foram Siem ?

Options:
1) EITJUVKBP

2) EITKUVICO
3) EITKVUICP

4) EJTKUVKCP
Correct Answer: EJTKUVKCP
Candidate Answer: EJTKUVKCP

Question 14.Some equations are solved on the basis of certain system. Find out the correct answer for unsolved equation on that basis:

FT FHIRIUT T Teh AT JOTEN & 3TUR I gl ohT ST & | 38 HUR O $H THHIT T el Seeik T
4x5x8=584,7x3x9=397,9x7x3=7?
Options:

1) 397
2) 793
3) 973

4) 739
Correct Answer: 739
Candidate Answer: 739

Question 15.If - means + , + means x , + means - , x means +, then which of the following equations is correct?

e - A ATATE =, + FIATAT & X, + BT ATAS ¢ - , X T AT & +, Al [AFATATET 3 I hieT-TT THHIUT Tal & ?

Options:
1)43x7 +5+4-8=25

2)48 +5+8x10-2=03
3)36x4-12+5+3=420

4)42+5+6x8-3=28
Correct Answer: 48 +5+8x10-2=03
Candidate Answer: [ NOT ANSWERED ]

Question 16.Find the missing number from the given response.

ToT 910 fashed & & o FEET #A1 HIfIT ?

2

6
2 |1 ‘ 5
-59 -‘91 | ?
Options:
1) 58

2) 65
3) 64

4)51
Correct Answer: 65
Candidate Answer: 65



Question 17.Facing the East, Rahul turned left and walked 10m, then he turned to his left again and walked 10m. He then turned towards his right and went straight
to cover 25m. In which direction is he from his starting point?

9 Y 3T T §U gl STt 3T A7 3T 10 A, T, Y 38 Srdt 3 731 3R 10 A o] Y € 3oy ardf 30T 730 3R WY 25 A, Tl 319 Ig IR Qg & oy
rrag?

Options:

1) North-West

3cd’- giRaH

2) North-East

Seert- 9

3) South-West

T aRea

4) South-East

ST 9

Correct Answer: North-West
3ca}- g

Candidate Answer: North-West
3ca’- giRaH

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Laugh and the world will laugh with you.

Assumptions:

1. People generally laugh.

II. Laughter symbolises happiness.

TR U & U AT & ey @ 13 &, foraeh 3t &Y fasehd/aAang, 1 31k 11 fAehrer 3 €1 31m9ent faar aTT & o gerded Ocg § I8 98 aeead: o a2ai &
T TiieT 1T &7l 39! AT e & 7oF U 1T aeFaey & & -1 A fad &7 & TE fsay/Aadr ferel ST TehdT § ?
aeded : g 3T gferar grer ar g8

=TT 1. ST 3 T ) A §

AT 2. §6 G &7 Tl Bl

Options:

1) Only I is an assumption

ool vy I TE 8

2) Only II is an assumption

gl shy 11 TE &1

3) Both I and II are assumptions

AT oSy 1 3R 11 T &

4) Neither I nor II is an assumption

AT ar faseny 1 3R a1 8 sy 11 agr g1

Correct Answer: Neither I nor II is an assumption

AT aY fosens I 31 A7 &) fAvehy 11 T &1

Candidate Answer: Only II is an assumption
Fad sy 11 T8 1

Question 19.How many triangles are there in the given figure?

& 18 repfey 3% R FaoT & 2

Options:
1) 24

2) 28
3) 36

4) 32
Correct Answer: 36
Candidate Answer: 24

Question 20.Identify the diagram that best represents the relationship among classes given below:
ELEPHANTS, WOLVES, ANIMALS

5 3@ AT S A w 1w @9t & dfra we 1w FAwor Har g
g1, A3, SeTaR



Options:
1)

2) ) o
.
| | : :I
.
3)

a\
_:/jl;
o

o

Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

leT-HY Sca¥ 3TehTc Te&T JTRTd o TTTET i 1 e 2

?

i

N




Options:
1)

B P b

Correct Answer:

n

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 918 3eaT IHTaAt F F 37 3H F gAw e we 3npfa AR §)




Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

Frfaf@a 3ear 3ehfardt & @ g5 A AT & A REme 38R FErst 1 Jise, Hice au1 @iee & d7e 98 g 3Thfd Sid s ¢am ?

T
e Ia
o =5 1 ~ 25 > e N o
N e D i PR o~ . 11
Fd - _._> ]
ie] - s >
b el . o
- o .
1~ -
=




Options:

1)
B . Sl
P By
:u b |
b LA
g
|
2)
. ’J’ -\k -
P o] W
Ll -
| * hd I
‘\!‘ - - ,f’
SINAT:
3)
. .‘f \'h' -
il - [
o -
:"\.;‘ s 1A
L] - \L ‘/ L
4)
* Jf" 1"'\. -
P o] W
( - -
| * bl
‘!‘*‘ - - ,f
o \‘ _—/ e
Correct Answer:
Pl N
P B
:u hu LAl
e 0 ol A
.
Candidate Answer:
. ;li" "N.hll .
el o] W
:L. -
‘."\‘ = * 1A
Jd ™ |
-




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I Teh gYUT T MN I R T@T ST 6t & 31§ Seaik ATHierdl 7 & Hler-2r Aepell 5ot 3mepfer 7 Fer fcrfar grof ?

|
|
N
- ___: | 4 .
M e
Optio;ls
1)
I
I8 SR
- ___I | 4 .
mm| =
2
T ::{_ .
-
3
.
4)
I
EEE\
- ___I | 4 .
mm| =
Correct Answer:
.
Candidate Answer:
[
.




Question 25.In this question, the sets of numbers given in the alternatives are represented by two classes of alphabets as in two matrices given below. The columns
and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and
next by its column, e.g., 'D' can be represented by 01, 13, etc., and 'N' can be represented by 59, 66, etc.

You have to identify the set for the word 'HEEL'

TS G hdel T GEAT-HHg GaNT SR 10T &, 1T o farepedt 31 & fordl v 3 T oram & | faeredt 3 few a1v wear uog 3R & & a9if ganr grifv 71w €, o1 fp e fiw
T 2 TSR A £ 3T 1 T IR TRl 7 A 0 7 4 R IS L 15 8 9 & 715 §1 39 ITeTgT  Ueh &R 1 Igel 30T Tad] R I18 7 T HEAT ZanT ariam
ST HehelT & | 3T o forw 'D' Y 01, 13 3HTTe; CaRT &RfTaT ST Fehell & TN ' Y 59, 66 3HTe; ZaRT SRIAT ST Hehel &1 S A¥E A 3Tl fT g 21 'HEEL' & foiw @wofg ot
g E |

IMATRIK | MATRIXH
Q i 2 2 q E - 7 & 9
a C D E F G 5 H K L I N
1 F G c D E 2] | N H K L
2 D E F G c 7 K L | N H
3 E F G C D g L 1 M H K
4 G c D E F g k| H K L 1

Options:
1) 67, 21, 14, 98

2) 75, 88, 65, 01
3) 68, 65, 60, 10

4) 68, 65, 50, 01
Correct Answer: 67, 21, 14, 98
Candidate Answer: 67, 21, 14, 98

Question 26.The term '"Macro Economics' was used by

" gl AAE " (Macro Economics) 21ee; T SaT fagier famam ar 2
Options:

1) J.M. Keynes

S.UH. Fel

2) Ragner Frisch

T e

3) Ragner Nurkse

TR gFH

4) Prof. Knight

9. ST

Correct Answer: Ragner Frisch

R freh
Candidate Answer: [ NOT ANSWERED ]

Question 27.Who was the first Chancellor of Jamia Millia Islamia University at Aligarh?

3relaTe # ey e fAferR seentaar favafaeerd & Jua Ferafd Hia 4 ?
Options:

1) Abdul Ghaffar Khan

31@' IFPR GleT

2) Rajkumari Amrit Kaur

TSIGHRY 3 R

3) Hakim Ajmal Khan
REGKELEEEIC]

4) Sir Sayyad Ahmad Khan

W T 3G @t

Correct Answer: Hakim Ajmal Khan
gifcheT 31T @Tel

Candidate Answer: [ NOT ANSWERED ]

Question 28.Who were the patrons of Sangama Literature?

I e & TRETh HieT o ?



Options:

1) Nayakas
GieED

2) Chandellas
aqgel

3) Pandyas
qisT

4) Solankis
Hrerhr
Correct Answer: Pandyas
5T

Candidate Answer: [ NOT ANSWERED ]

Question 29.Where in India was the first French factory established?

AR 7 Ugel S theredl gt Tenfaa iy ars ofr ?
Options:

1) Surat

T[T

2) Pondicherry

igRIT

3) Chandannagore

e ATR

4) Masulipatnam

ASCIICAH
Correct Answer: Surat

[
Candidate Answer: Masulipatnam

FASoICTT

Question 30.Which algorithm is used to decide the path to transfer the packets from source to destination?

FIT T A I1cTeT Tk Jhel Y TR el o AT T 0T et 3 TOIT R et [a TS T T29T R SiTaT & 2
Options:

1) Routing

AT R

2) Pathing

27 fefiRor

3) Selecting

T

4) Directing

ISR

Correct Answer: Routing
AT fdRr

Candidate Answer: Routing

AT Ader

Question 31.Which one of the following is an ohmic conductor?

Ffaf@a & & 3NA-aoF Ha-arg ?
Options:

1) Germanium

Ecicor)

2) Silicon

[Giccoot

3) Carbon

FIT

4) Silver

Reax

Correct Answer: Silver

Reax

Candidate Answer: Silver

Reax

Question 32.Which mechanism is used by the computer virus 'worm' to duplicate itself?

HTYR ITITH 'worm' ZaRT g 1 Geigied o v foh i o1 yater feham ST & ?



Options:

1) Swap

[k

2) Increment

SeshiT

3) Spawn

it

4) Swarm

wiH

Correct Answer: Spawn

v

0T
Candidate Answer: Increment

SThIHT

Question 33.The first Commonwealth Games in 1930 was held in which country?

1930 3 W2r ISCHST Well T 3TATSTeT Tohd ST # FohaT a1 2T ?
Options:

1) Australia

siteeforam

2) England

gicls

3) New Zealand

giels

4) Canada

ShelsT

Correct Answer: Canada
ShelsT

Candidate Answer: Canada
ShelsT

Question 34.The gentle 'seaward sloping' surface from the coasts is called

et &, godhl "Tag AT Tl T T e § ?
Options:

1) Continental shelf

AT IR

2) Continental rise

A T

3) Abyssal plains

Rl Aeret

4) Submarine ridges

Correct Answer: Continental shelf
HEIEAI e

Candidate Answer: Continental shelf

AT TR

Question 35.The aim of Differentiated Interest Scheme was to provide concessional loans to

TReTIcHS sTTST YT &l 3317, o= & & foreg ATl oot TereT aaT 87
Options:

1) weaker section of the society

THATST F HHASAR FT Y

2) Public Sector Industries

TN &5 ¥ et

3) Public Limited Companies

gfsers fafaes safarat ar

4) big exports

33 e

Correct Answer: weaker section of the society

TATST & FHHAAR T Y
Candidate Answer: Public Sector Industries

S ereR 8 & s

Question 36.Anemometer is an instrument meant for measuring

ufaaeier ¥, Ru a1v fashent & J, oFar AT ST § ?



Options:

1) velocity

Er

2) air masses
BT &1 GegH T
3) wind speed
REIEIKIIG]

4) temperature
GISGIGE

Correct Answer: wind speed
gar & afa

Candidate Answer: air masses
T T geg Al

Question 37.Tax on inheritance is called

Ay FEdfed OX i1 Y ST & 39 AT el © ?
Options:

1) Excise duty

3ciq shT

2) Estate duty

SliIclc &Y

3) Gift tax

3YER h

4) Sales tax

[EEDETS

Correct Answer: Estate duty
SAIETE T

Candidate Answer: Estate duty
Sigcle &Y

Question 38.The silver coin 'tanka’ was introduced by

ATEY T FerahT 'EohT' fovaey TretraT ar ?
Options:

1) Qutubuddin Aibak

FAIENA Th

2) Iltutmish

FoqataRT

3) Balban

FeldeT

4) Bahram Khan

ERRGEEIGH

Correct Answer: Iltutmish
FoqataRs

Candidate Answer: Qutubuddin Aibak
P Tah

Question 39.Which of the following international prizes/awards is given for outstanding contribution in the field of Journalism?

ATl & § et A1 HavErRr EHR THHIRAT & 87 7 Fafed A & fow far ST § ?
Options:

1) Oscar Award

IR RERR

2) Booker Prize

TR TEN

3) Pulitzer Prize

9fAceR qTEhR

4) Sullivan Award

gicoms qRERR

Correct Answer: Pulitzer Prize
gidieoR qTEhR

Candidate Answer: Pulitzer Prize
FfIcoR WEPR

Question 40.The country which tops in the production of cocoa is

SIPIIT & ST 3 hisT-aT 32T Fe 3T §?



Options:

1) Ghana
Tl

2) Brazil
CIcic)

3) Ivory Coast
Mg e
4) Nigeria
AT
Correct Answer: Ghana
Tt

Candidate Answer: Nigeria

AT

Question 41.Increased RBC's in the blood leads to a condition called

T&Fd # RBC & §ga1 & FioT-81 [eufa o7 ST & ?
Options:

1) Anemia

AT

2) Haemophilia

gAhIferT

3) Polycythemia

glerarsAfaaT

4) Leukaemia

Eeane

N

Correct Answer: Polycythemia
reasAEIT

Candidate Answer: Leukaemia

T

Question 42.The spring balance works on the principle of

AT Jeoll fore TAGI 9T 1 AT & ?
Options:

1) Boyle's Law

Sigd e

2) Hooke's Law

g Grr:

3) Bernoulli's principle

FaAfelr Rrgia

4) Pascal's Law

IRl s

Correct Answer: Hooke's Law
g o

Candidate Answer: Hooke's Law
g iGer

Question 43.If there were no gravity, which of the following will not be there for a fluid?

IR HTSoT AT A1 &Y, A e Af@e 7 & FieT-ar el e & forw oy 78T g ?
Options:

1) Viscosity

R

2) Surface Tension

IS5 TATT

3) Pressure

EEIGH

4) Upward Thrust

F e

Correct Answer: Upward Thrust
EXCUCIC)

Candidate Answer: Surface Tension
ItS delid

Question 44.Calcium salts used as fertilizer is:

3R & T T Hlet T FHARIH Fa07 T 8t & ?



Options:

1) Calcium Carbide
Fioxa FeTss

2) Calcium Carbonate
FierrTa FEfae

3) Calcium Cyanide
iR ASASS

4) Calcium Sulphate
FHicerra Tethe
Correct Answer: Calcium Sulphate
FHicerra Tethe

Candidate Answer: [ NOT ANSWERED ]

Question 45.The Jawaharlal Nehru Award is given for

TGRS 1% JNERR FoRETelT T 1T § ?
Options:

1) Government service

TN /4T

2) Literary work

wifgfcaes dar

3) International understanding

Hea ST HASTENT

4) Social work

AT HRY

Correct Answer: International understanding
edRTSERT THASTERT
Candidate Answer: Literary work

ifgfeas dar

Question 46.Which of the following is called 'Queen of the Adriatic'?

ffafad & ¥ 'Tfigufes H T fhd Fga @ ?
Options:

1) Venice

afea

2) Rome

A

3) Flanders

Folsy

4) Lisbon

foreg=t

Correct Answer: Venice

afew
Candidate Answer: [ NOT ANSWERED ]

Question 47.The liberation of oxygen during photosynthesis is due to

eI HRONUT & ENTeT 3ierdiieteT fhe sRor AR gl g ?

Options:
1) hydrolysis of carbohydrates

FIE BB T STl TEE

2) photolysis of water

STel ol YehIRT ATE el

3) reduction of CO;

CO, T AT

4) breakdown of chlorophyll

FARITR &I TC ST

Correct Answer: photolysis of water
STel I YhIRT 9HCT

Candidate Answer: hydrolysis of carbohydrates

FIE BB HT STl T

Question 48.Formic acid is produced by

HfFes TS e eaRT 3cd+T glaT & ?



Options:

1) White ants
[AEco

2) Cockroaches
i (faerasn
3) Red ants

ool Iier

4) Mosquitoes
HY

Correct Answer: Red ants
el dier

Candidate Answer: Red ants
et iér

Question 49.Which one of the following forms of phosphorus is most reactive?

Ffaf@d & & BIepRY & Sld-87 &7 a8 ST Tiafhariea g ?
Options:

1) Black phosphorus

T HITHRE

2) White phosphorus

qd BRI

3) Violet phosphorus

FaTelT HrEwRET

4) Red phosphorus

ST HIEBIRE

Correct Answer: White phosphorus

23 BIAPRY

Candidate Answer: Red phosphorus

ATl BrEDRE

Question 50.Zubin Mehta is associated with

ST Fga fore 819 & Feafoud § 2
Options:

1) Literature

SISl

2) Painting

IEECEY

3) Music

oGt

4) Journalism

EECaN

Correct Answer: Music
T

Candidate Answer: Literature

afeea

Question 51.1f 310 x 272 = 92 x 3" then the value of n is

7T 310 x 272 = 92 x 3N g, n & AT TdBT ?

Options:
1) 10

2) 12
3)15

4) 30
Correct Answer: 12
Candidate Answer: 12

Question 52.The radius of two cylinders are in the ratio of 3:2 and their heights are in the ratio 3:7. The ratio of their volumes is :

& Sl T PSS & dier 3:2 T JHegael & 3R 3eTehl g 3 3:7 T 30T &1 Sefeh ITAcTaAl bl JHe]dTcl TcAT3T ?

Options:
1) 4:7

2)7:4
3) 28:27

4) 27:28



Correct Answer: 27:28
Candidate Answer: [ NOT ANSWERED ]

Question 53.The list price (marked price ) of an article is Rs. 900 and is available at two successive discounts of 20% and 10% ; the selling price of the article,in
rupees, is

T3l & T 3ifeheT Her 900 Rs. ¥ 3R a8 20% 3R 10% & Hifsh e TR 3T ¢ 3 a&] F1 93l H [4shd 7o Idi5U ?

Options:

1) 640

2) 648

3) 720

4) 738
Correct Answer: 648
Candidate Answer: 648

Question 54.A, B and C enter into a partnership, investing Rs. 6000. A invests Rs. 1000 and B and C invests in the ratio of 2:3. Find the profit of C, when the annual
profit is Rs. 2400

A, B 31X C Rs. 6000 forder ¢as @rsial ¢ el €1 A 383 Rs. 1000 & fder e § d2r B 3R C 2:3 & 3re7arey & fder e §1 afe arfier ot Rs. 2400 8, o aamsw
FC Eﬁl’ﬁw_clﬂTFITﬁTgHT ?

Options:

1) Rs.600

2) Rs.1200

3) Rs.1800

4) Rs.1950
Correct Answer: Rs.1200
Candidate Answer: Rs.1200

Question 55.Average of two numbers is 8 and average of other three numbers is 3 ; the average of the five numbers is

& gt &1 3itad 8 & 3 3 e deamsit @ 3ivea 3 €1 al @it @ 3ia sdee ?
Options:

1)2

2)3

3)5

4)6
Correct Answer: 5
Candidate Answer: 5

Question 56.To make a profit of 20% the selling price of the good is Rs. 240. The cost price of the good is,

I et aFg T Rs. 240 3 Ia=¥ TR 20% T 3T AT &, AT 30 a6 H 5 F{od AT PST ?

Options:
1) Rs. 200

2) Rs. 210
3) Rs. 220

4) Rs. 230
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 57.In an examination, 35% of total students failed in Hindi, 45% failed in English and 20% failed in both. Find the percentage of those studnets who passed
in both the subjects ?

TR 98T 7 35% m%ﬁﬁﬁmgﬁn 45% mﬁsﬁﬁﬂr«rgﬂ&ﬁt 20% ma’t#’rﬁw’fﬁﬁmg@ mmﬁﬂqﬁammwmaﬁﬁwﬁwg ?
Options:

1) 45%

2) 35%

3) 20%

4) 40%

Correct Answer: 40%

Candidate Answer: 40%



Question 58.A man travels 50 km at speed 25 km/h and next 40 km at 20 km/h and there after travel 90km at 15 km/h. His average speed is

P FfFT 50 .7, Hr Imr 25 R ufa gve Hr are § a7 Far & 317 317l 40 6.7, 1 Imr 20 .. 9fd gve Hr O § 97 aar § 317 356 91¢ 90 .. Hr amEr
15 .. 9fa gue fr arer & IF FRdT g1 3T AT aIT FATE ?

Options:
1) 18

2)25
3)20

4) 15
Correct Answer: 18
Candidate Answer: 18

Question 59.

1 1 1
If x +—# 0and x* + — = 0then the value (x + —)*is
x x x

Zlﬁ;*x+§ + 03T x3+x—13=og’r Fl’l'{x+§}“-ﬂﬂ1?-l’ﬂ?ﬂ$‘?l
Options:

1)9

2) 12

3) 15

4) 16
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1 1
If x + —= 2thenx®* +—isequalto
x x2

T x +§ —2grar x2+$mw grem?

Options:
1)0

2)2
3)4

4)8
Correct Answer: 2
Candidate Answer: 2

Question 61.The orthocentre of a triangle lies on one of the sides. Then

Tt fordlr Franior &7 Sia-shes; Rl T ST IR 8, at

Options:
1) The orthocentre lies on a vertex

& g RRIfGrg R &

2) circumcentre lies outside the triangle

gReheg AT F T §

3) circumcentre lies on the same side

g 3 TR &

4) centroid coinsides with orthocente

Fegeh oid Feg AT E

Correct Answer: The orthocentre lies on a vertex
o g RRfAeg W&

Candidate Answer: [ NOT ANSWERED ]

Question 62.Three sides of a triangle are 5 cm, 9 cm and x cm. The minimum integral value of x is

TRl FetoT Y ofieT $1=C 5 A, 9 A 3R x QA F1 x T ~YFATH QT A TS ?



Options:

1)2

2)3

3)4

4)5

Correct Answer: 5
Candidate Answer: 4

Question 63.The value of cos220° + cos270° is

€05220° + €0s270° T AT AT HTIT ?
Options:

1)

42

2)2

4)1
Correct Answer: 1
Candidate Answer: 1

Question 64.If 5 person together can make 5 mats in 5 hrs, then 10 person in 10 hours will make

Jfe 5 cgferd fAeRt 5 9u¢ # 5 I8l 9T §ohd & | df 10 Safad 10 €¢ 7 frdsiT gargar g=iraer ?
Options:

1) 20 mats

20 Tersar

2) 10 mats

10 Terzar

3) 15 mats

15 gersam

4) 5 mats

5 Tersar

Correct Answer: 20 mats
20 Tersar

Candidate Answer: 20 mats
20 Tersar

Question 65.If a + b = 17 and a - b = 9 then the value of (4a2 + 4b?) is,

gfida+b=1731a-b =98, dr(4a2 + 4b2) &1 AR IABT ?

Options:
1) 710
2) 720
3) 730
4) 740

Correct Answer: 740
Candidate Answer: 740

Question 66.If x +y = V3 and X - y = V2, then the value of 8xy (x2 + y2) is

FRX +y = V3 3R x - y = V2 &, a1 8xy (X2 + y2) & AT Id1ST ?

Options:
1)6

2) V6
3)5

4) V5
Correct Answer: 5
Candidate Answer: 5

Question 67.The length of a chord which is at a distance of 5cm from the centre of a circle of radius 13cm is

TR O Sia S oS &R el S 13 ALY s arel gedt & Fos 45 WAL A g R ar?



Options:
1) 18cm
18 T
2) 24cm
24 Q..
3) 25cm
25 {7
4) 30cm
30 @3
Correct Answer: 24cm
24 7.7

Candidate Answer: 24cm
24 7.,

Question 68.1If the measures of the angles of a triangle are in the ratio. 1:2:3 and if the length of the smallest side of the triangle is 10cm, then the length of the
longest side is

T fordt FenIoT & 1ol & AT 1:2:3 & gt A § 3R FHenior i Gad S o1eT 1 o 10 AL, , Y 3R Fad ol o7t Y ohs sy ?
Options:

1) 20cm

20 ..

2) 25cm

25 3.

3) 30cm

30 &

4) 35cm

35 @A

Correct Answer: 20cm
20 ..

Candidate Answer: 20cm
20 ..

Question 69.1f cosA + cos?A = 1 then the value of sinA + sin*A is :

g cosA + cos?A = 1 &), dl sin?A + sin*A &7 & FaET ?

Options:
1)

2)
3) %

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 70.A sum of Rs. 3000 amounts to Rs. 6000 in two years at compound interest. The interest for four years is

Rs. 3000 T Ufr wehgfg sarer oX 2 a¥ & geard Rs. 6000 &Y ST &1 IR a¥ &l SATST 7 g1an ?

Options:
1) Rs.9000

2) Rs.12000
3) Rs.6000

4) Rs.3000
Correct Answer: Rs.9000
Candidate Answer: Rs.6000

Question 71.The angles of depression of two ships from the top of a light house are 45° and 30° toward east. If the ships are 200m apart, the height of the light
house is (take V3=1.73)

TRt TR - T8 & Y & &Y AT o 3aetHeT ioT g T 3R 45° 311X 30° §| IS o TRER 200 Hiex FHr g 7¥ g7 dr TehrRr-veeT H S aass ? (T AT gUIH V3 =
1.73)
Options:
1) 273m
273 9.
2) 270m
270 .
3) 253m
253 #I.
4) 263m
263 A,



Correct Answer: 273m
273 A

Candidate Answer: [ NOT ANSWERED ]

Question 72.This is a pie chart for the data on A,B,0O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

3T 1w o1 =& A 150 AT & <T84 A, B, O, AB o 3iTehsi &1 effam 3y § (U7 =é &7 3rearziet HAw 3 7=l & 3eai Afw|

The number of donors having blood group 'O’ is:

O et B HEdT AT St so1s 9 '0' ¥ ?

Options:
1) 50

2) 42
3) 30

4) 34
Correct Answer: 42
Candidate Answer: 42

Question 73.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

3w 1w o1 =nE A 150 AT & 55 U A, B, O, AB % 3ifehsi @t i arar g 1urs =ne &7 3rearzet Hifeiw 3R yeal & 3eak Afw |

The number of persons having either blood group 'A' or blood group 'B' is

T et I HEAT TSV foiaTeht soig o a7 T 'A' 81 41 'B' 817
Options:
1) 84

2) 9%
3)78

4)54
Correct Answer: 84
Candidate Answer: [ NOT ANSWERED ]



Question 74.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

T 1w o1 =1 A 150 AT & =I5 G A, B, O, AB % 3ifehst a1 i arar 1urs =né &7 rearaet AT 31K yeali & 3ea¥ afaw)

What is the percentage of donor having blood group 'AB' ?

O T3t i gferar 1T ST soig 79 'AB' § ?
Options:

1) 61%

2) 26%

3) 16%

4) 36%

Correct Answer: 16%

Candidate Answer: 16%

Question 75.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

U 1T a1 =& A 150 A3 & <5 G A, B, O, AB & 3iTehel T i 317 § 47 =E F7 37e23eT RAT 3R 9=l & 3T Afw|

The ratio of donors having blood group 'A' to the average of the donors having blood group 'O’ , 'B' and 'AB' is

ST T3t 1 sefs I A" § 3oTeh1 3R TSt T3t &7 se13 379 '0", 'B' 31X 'AB' § 357 3 &1, 3UTd AT hfAw ?
Options:

1) 4:3

2)4:5

3)5:4

4) 3:4

Correct Answer: 3:4

Candidate Answer: 4:5

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ARDUOUS

Options:

1) FERVENT

2) STRONG

3) ENTHUSIASTIC

4) STRENUOUS

Correct Answer: STRENUOUS

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

QUIESCENT



Options:

1) IGNORANT

2) DORMANT

3) INNOCENT

4) IMPROPER

Correct Answer: DORMANT

Candidate Answer: IMPROPER

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Commemmorate

2) Commemorate

3) Comemmorate

4) Comemorate

Correct Answer: Commemorate

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Beside, writing is my hobby, (A) / I had ideas for a couple of short stories (B) / that needed further thought. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He recommended (A) / my case (B) / with the supervisor (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Her knowledge in English (A) / gives her great advantage (B) / over me. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Do not your own personal views upon the reader.
Options:

1) expose

2) interpose

3) express

4) impose

Correct Answer: impose

Candidate Answer: express

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

This school isn't from the last one.
Options:

1) more different

2) any different

3) difference

4) any difference

Correct Answer: any different
Candidate Answer: more different



Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I have decided my course of action.
Options:

1) upon

2) with

3) for

4) of

Correct Answer: upon

Candidate Answer: upon

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To bury the hatchet

Options:

1) To make peace

2) To dig the ground

3) To negotiate

4) To make war

Correct Answer: To make peace

Candidate Answer: To make war

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Selling like hot cakes
Options:

1) To have a good season
2) To become as planned
3) To have a very slow sale
4) To have a very good sale

Correct Answer: To have a very good sale
Candidate Answer: To become as planned

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Scot free

Options:

1) Unlimited

2) Unpunished
3) To freedom
4) Unrepentant

Correct Answer: Unpunished
Candidate Answer: Unrepentant

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A thing no longer in use
Options:

1) Illusion

2) Illegal

3) Obsolete

4) Historic

Correct Answer: Obsolete
Candidate Answer: Obsolete

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where astronomical observations are made
Options:

1) Laboratory

2) Observatory

3) Astrolibrary

4) Astrophery

Correct Answer: Observatory

Candidate Answer: Astrophery

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Killing one's sister
Options:

1) Regicide

2) Fratricide

3) Matricide

4) Sororicide

Correct Answer: Sororicide



Candidate Answer: [ NOT ANSWERED ]

Question 91.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Government officials keep throwing the buck to others.
Options:

1) giving

2) passing

3) donating

4) No improvement

Correct Answer: passing

Candidate Answer: passing

Question 92.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

She angrily broke up the letter.
Options:

1) tore up

2) break in

3) teared up

4) No improvement

Correct Answer: tore up
Candidate Answer: tore up

Question 93.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

They told me that they had build a new house.
Options:

1) have built

2) have build

3) had built

4) No improvement

Correct Answer: had built

Candidate Answer: have built

Question 94.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

One should exercise their right to vote
Options:

1) his

2) our

3) one’s

4) No improvement

Correct Answer: No improvement

Candidate Answer: one’s

Question 95.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

She sank back with a mourn of pain
Options:

1) morn

2) mourne

3) moan

4) No improvement

Correct Answer: moan
Candidate Answer: moan

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from St. Xavier's College, Kolkata. He then obtained Tripos of Cambridge
University and joined the Presidency College, Kolkata, as Professor of Physics. He was a pioneer in the discovery of the wireless and radio and the Microwave. He
made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that not only do trees and plants have life, but
feel pleasure and pain as we do. He was perhaps the first scientist to suggest the possibility of gathering and utilising energy from solar rays. Last but not least was
the Bose Institute which he founded in 1917. It has now become a world-famous Research Laboratory doing yeoman's service to various branches of science.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from which college?
Options:

1) St. Xavier's College, Kolkata

2) Cambridge University

3) Presidency College, Kolkata

4) Bose Institute

Correct Answer: St. Xavier's College, Kolkata

Candidate Answer: St. Xavier's College, Kolkata



Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from St. Xavier's College, Kolkata. He then obtained Tripos of Cambridge
University and joined the Presidency College, Kolkata, as Professor of Physics. He was a pioneer in the discovery of the wireless and radio and the Microwave. He
made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that not only do trees and plants have life, but
feel pleasure and pain as we do. He was perhaps the first scientist to suggest the possibility of gathering and utilising energy from solar rays. Last but not least was
the Bose Institute which he founded in 1917. It has now become a world-famous Research Laboratory doing yeoman's service to various branches of science.

What is meant by yeoman service?
Options:

1) Minimal

2) Invaluable

3) Discreet

4) Sporadic

Correct Answer: Invaluable
Candidate Answer: Sporadic

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from St. Xavier's College, Kolkata. He then obtained Tripos of Cambridge
University and joined the Presidency College, Kolkata, as Professor of Physics. He was a pioneer in the discovery of the wireless and radio and the Microwave. He
made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that not only do trees and plants have life, but
feel pleasure and pain as we do. He was perhaps the first scientist to suggest the possibility of gathering and utilising energy from solar rays. Last but not least was
the Bose Institute which he founded in 1917. It has now become a world-famous Research Laboratory doing yeoman's service to various branches of science.

Acharya Jagadish Chandra Bose was a pioneer in the discovery of the wireless, radio and the
Options:

1) Toaster

2) Oven

3) Microwave

4) Radio

Correct Answer: Microwave

Candidate Answer: Microwave

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from St. Xavier's College, Kolkata. He then obtained Tripos of Cambridge
University and joined the Presidency College, Kolkata, as Professor of Physics. He was a pioneer in the discovery of the wireless and radio and the Microwave. He
made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that not only do trees and plants have life, but
feel pleasure and pain as we do. He was perhaps the first scientist to suggest the possibility of gathering and utilising energy from solar rays. Last but not least was
the Bose Institute which he founded in 1917. It has now become a world-famous Research Laboratory doing yeoman's service to various branches of science.

Jagadish Chandra Bose made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that trees and plants
have not only life, but

Options:

1) feel joyous and excited as we do.

2) feel happy and sad as we do.

3) feel excitement and pain as we do.

4) feel pleasure and pain as we do.

Correct Answer: feel pleasure and pain as we do.
Candidate Answer: feel pleasure and pain as we do.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Acharya Jagadish Chandra Bose, one of the greatest of modern scientists, graduated from St. Xavier's College, Kolkata. He then obtained Tripos of Cambridge
University and joined the Presidency College, Kolkata, as Professor of Physics. He was a pioneer in the discovery of the wireless and radio and the Microwave. He
made remarkable contribution to the science of Botany by proving with the help of an instrument of his own invention that not only do trees and plants have life, but
feel pleasure and pain as we do. He was perhaps the first scientist to suggest the possibility of gathering and utilising energy from solar rays. Last but not least was
the Bose Institute which he founded in 1917. It has now become a world-famous Research Laboratory doing yeoman's service to various branches of science.

What is meant by a Tripos from Cambridge University?
Options:

1) A scholarship

2) A trophy

3) A degree

4) A medallion

Correct Answer: A degree

Candidate Answer: A scholarship



